	Урок 9

	Контрольная работа

	ВАРИАНТ 1
	ВАРИАНТ 2

	1(.
Дано: cos ( = –0,6, 
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sin (;
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Решите уравнение:

а)
1 + sin x = 0;
б)
3cos x – 2sin2 x = 0.
3.
Докажите тождество
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4.
Решите уравнение:

а)
1 + 3sin2 x = 2sin 2x;
б)
cos 4x – cos 2x = 0.
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Дано: 
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Вычислите:
а)
cos (;

б)
сtg (( – ().

2(.
Решите уравнение:

а)
cos x + 1 = 0;
б)
2cos2 x + 3sin x = 0.

3.
Докажите тождество
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4.
Решите уравнение:

а)
2sin xcos x = cos 2x – 2sin2 x;
б)
cos 4x + cos 2x = 0.



	ВАРИАНТ 3
	ВАРИАНТ 4

	1(.
Дано: sin ( = –0,6, 
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Вычислите:
а)
cos (;

б)
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2(.
Решите уравнение:

а)
1 – sin x = 0;
б)
2cos2 x – cos x – 1 = 0.

3.
Докажите тождество
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4.
Решите уравнение:

а)
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б)
sin 4x – sin 2x = 0.
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Дано: 
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Вычислите:
а)
sin (;

б)
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Решите уравнение:

а)
cos x = –1;
б)
2sin2 x – sin x – 1 = 0.

3.
Докажите тождество
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4.
Решите уравнение:

а)

[image: image13.wmf]0

cos

sin

3

cos

2

=

-

x

x

x

;
б)
sin 4x + sin 2x = 0.




	ВАРИАНТ 5
	ВАРИАНТ 6

	1(.
Дано: sin ( = 0,8, 
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Вычислите:
а)
cos (;

б)
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Решите уравнение:

а) 
[image: image16.wmf]2
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;
б) 2sin2 x = cos x + 1.

3.
Докажите тождество


[image: image17.wmf]a

=

a

+

a

a

-

a

 

tg

 

cos

3

cos

 

sin

3

sin

.

4.
Решите уравнение:

а) sin2 x – 2sin x cos x = 3cos2 x;
б) sin 5x – sin x = 0.


	1(.
Дано: cos ( = –0,6, 
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Вычислите:
а)
sin (;

б)
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Решите уравнение:

а) 
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;
б) 2cos2 x – 1 = sin x.

3.
Докажите тождество
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4.
Решите уравнение:

а) sin2 x + sin x cos x = 2cos2 x;
б) sin 3x – sin x = 0.



	ВАРИАНТ 7
	ВАРИАНТ 8

	1(.
Дано: 
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Вычислите:
а)
sin (;

б)
sin 2(.

2(.
Решите уравнение:

а)
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б)
sin2 x + 3cos x – 3 = 0.

3.
Докажите тождество
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4.
Решите уравнение:

а)
sin2 x + sin x cos x = 2cos2 x;
б)
cos x – cos 5x = 0.


	1(.
Дано: 
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Вычислите:
а)
cos (;

б)
cos 2(.

2(.
Решите уравнение:

а)
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б)
2cos2 x + sin x + 1 = 0.

3.
Докажите тождество


[image: image27.wmf]a

-

=

a

-

÷

ø

ö

ç

è

æ

p

-

a

÷

ø

ö

ç

è

æ

a

+

p

-

a

 

tg

3

 

sin

3

6

sin

2

3

cos

2

cos

.

4.
Решите уравнение:

а)
3sin2 x + sin x cos x = 2cos2 x;
б)
cos 5x + cos x = 0.
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